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’ 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - —| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 442 55.20| Zh L4t |0.00 ~ 442] 1.95 9.84 ZnLst 1.00f 500 ~ 5.00 55.20| #hlist | 500 ~ 500 1.95 9.84
9 100kN/mM#%#BZ % 1.00({0.00 ~ 232 136.16|3m%E{B x5 = ~ - = —| 100kN/mM%#B 2% 1.00( 11.61 ~ 30.85 136.16|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{2.32 ~ 10.10 100.00| Z#hkist | 0.00 ~ 10.10| 2.87 14.53 ZnLst 1.00f 500 ~ 11.61 100.00] #hist | 5.00 ~ 30.85| 2.87 14.53
3 100kN/mM#%#BZ % 1.00({0.00 ~ 2.71 142.74|3m%EB 25 = ~ - = —| 100kN/mM%#8 2% 1.00( 11.06 ~ 32.13 142.74| 3m%EBZ 5D =l ~ - - -
Zzh st 1.00{2.71 ~ 10.50 100.00| Z#hist | 0.00 ~ 10.50] 2.95 14.90 ZznLst 1.00f 500 ~ 11.06 100.00] #hkist | 5.00 ~ 32.13| 2.95 14.90
4 100kN/mM#%#BZ % 1.00({0.00 ~ 248 138.87|3m%{E 25 = ~ - = —| 100kN/mM%#8 2% 1.00( 11.41 ~ 32.16 138.87|3m%EEZ 5 =l ~ - - -
Zzh st 1.00( 2.48 ~ 10.27 100.00] #hkist | 0.00 ~ 10.27[ 2.90 14.65 ZnLst 1.00f 500 ~ 11.41 100.00] #hkist | 5.00 ~ 32.16] 2.90 14.65
5 100kN/mM#%#BZ % 1.00(0.00 ~ 234 136.43|3m%E{B 25 = ~ - = —| 100kN/mM%#8 2% 1.00( 11.66 ~ 32.30 136.43|3m%EEZ D =l ~ - - -
Zzh st 1.00(2.34 ~ 10.12 100.00| Z#hlist | 0.00 ~ 10.12] 2.87 14.50 ZznLst 1.00f 500 ~ 11.66 100.00] #hiist | 5.00 ~ 3230 2.87 14.50
6 100kN/mM#%#BZ % 1.00(0.00 ~ 237 137.08|3m%E{B x5 = ~ - = —| 100kN/mM%#8 2% 1.00 11.57 ~ 31.92 137.08|3m%EEZ D =l ~ - - -
Zzh st 1.00(2.37 ~ 10.16 100.00| Z#hist |0.00 ~ 10.16] 2.88 14.55 ZznLst 1.00f 500 ~ 1157 100.00] #hkist | 5.00 ~ 31.92| 2.88 14.55
7 100kN/mM#%#BZ % 1.00({0.00 ~ 2.10 132.58|3m%B 25 = ~ - = —| 100kN/mM%#B 2% 1.00( 11.01 ~ 21.72 132.58|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{2.10 ~ 9.89 100.00] Z#hkist | 0.00 ~ 9.89| 254 12.82 ZznLst 1.00f 5.00 ~ 11.01 100.00] #hkist | 5.00 ~ 21.72| 2.54 12.82
8 100kN/mM#%#BZ % 1.00({0.00 ~ 1.18 117.83|3m%E#E 25 = ~ - = —| 100kN/mM%#B 2% 1.00{ 10.71 ~ 14.34 117.83|3m%EEZ 5D =l ~ - - -
Zzh st 1.00({1.18 ~ 897 100.00| Z#h a4t |0.00 ~ 8.97| 2.29 11.55 ZnLst 1.00f 5.00 ~ 10.71 100.00] #hkist | 5.00 ~ 14.34| 2.29 11.55
9 100kN/mM#E#BZ % 1.00(0.00 ~ 0.88 113.16|3m%E{B x5 = ~ - = —| 100kN/mM%#B 2% 1.00( 10.67 ~ 13.47 113.16|3m%EE 25 =l ~ - - -
zh st 1.00{0.88 ~ 8.66 100.00] #hkist | 0.00 ~ 8.66] 2.11 10.65 ZnLst 1.00f 5.00 ~ 10.67 100.00| #hiist | 5.00 ~ 1347 2.11 10.65
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#B % % ~ ImEEZD ~
zh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#8Z% ~ ImEFEZD ~
Zh LS ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82% ~ ImEFEZD ~
Zh s ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ 3ImEFEZD ~ 100kN/m%#8Z 5% ~ ImEFEZD ~
ZThESH ~ ZThLst ~ ZhLS ~ ZThESE ~
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